7198 AE A=Y SA
7187 YRR G nSA 9 (5] )
2 o 1=]
Hopn f}oj ?};3 fg PRSI CRpE RS 2A4Z7 | A5 3 A
37 2,507,696 27,068,876 29,576,572
a5 2,507,696 27,068,876 29,576,572
Lol EZEFS 2,414,143 24,304,004 26,718,147
AAALLE £40,602 1,270,418 1,229,816
ALY ER A7 A= 240,602 1,248,755 1,208,153
FRALER R Y £40,602 1,248,755 1,208,153
1. ZRAZAR A A & £40,602 1,245,755 1,205,153
7b. WA TAROI 71 1] %] € A 40,602 1,245,755 1,205,153
1) 712 110-02 |710,884,0009 — <7]%>730,098,000¢ = 19,214 730,098 710,884
2) A7 R 110-02 88,734,000 — <7]%>93,640,000¢ = ~4,906 93,640 88,734
3) &G 110-02 |25,415,0009) — <71%>20,400,0009 = 5,015 20,400 25,415
4) A3 8n) B 2} 110-02 |6,744,0009 — <71%>10,612,0009 = £3,868 10,612 6,744
5) WEH ZH] 110-02 |26,640,0009 — <7]4>27,360,000¢ = AT20 27,360 26,640
6) 224 110-02 35,520,000 — <7]4>36,480,000¢ = A960 36,480 35,520
7) A 110-02 |35,543,0009 — <7]14>39,439,000¢ = ~3,896 39,439 35,543
8) WA F 7}y 110-02 |37,000,0009 — <71%>38,000,000¢ = A1,000 38,000 37,000
9) F7)dol 110-02 |18,500,0009) — <71%>19,000,0004 = A500 19,000 18,500
10) @33 22 240-02 14,800,000 — <71%4>15,200,0009 = A400 15,200 14,800
11) §a3% 320-04 100,607,000 — <71%>112,396,000¢)= A11,789 112,396 100,607
12) vl = 320-04 46,324,0009 — <71%4>45,676,0004= 648 45,676 46,324
13) A7R 8 320-04 |31,501,0009 — <71%§>31,059,0008 = 442 31,059 31,501
14) +=91%7) QokR 8 320-04 |2,264,0009 — <7]4>2,035,0009 = 229 2,035 2,264
15) 14138 320-04 |15,542,0009 — <71%4>15,225,0009= 317 15,225 15,542
A5E-F58EAY 217,777 1,165,565 1,383,342
R B B R R A4,500 123,218 118,718
TEHALY 24,500 101,560 97,060
1. 38 ARG 3x 24,500 87,500 83,000
7}, S Eole] 99 4,500 78,500 74,000
1) 258w 620-03 48,000,0009 — <7]%>46,000,000 4= 2,000 46,000 48,000
9) =i £6,500 32,500 26,000
1 2 620-03 |18,000,0009 — <7]%4>22,500,0009= A 4,500 22,500 18,000
) A} 620-10 8,000,000 — <7]4>10,000,000¢ = ~2,000 10,000 8,000
WE - fOlEFERS - WA dEBEAY - WENYNLEY - BF Y




718 AEZE YA
713 - AEE Rk S 9 (9] 4D
2 o) 1=
gopzg 22| B3| 2% Aol %A% e N 2452 | AAdna | 2
golmSAZ 704 6,060 6,764
FoluSA 704 6,060 6,764
1. 4 9ASHA LI A AR IUA T 704 3,560 4,264
7h A A Y s o et B 704 704
1) $9e= 210-01 |20,0009 x5%= 100 100
2) 4w 210-01 | 14,0009 x 31} x 2] 7k= 84 84
3) A (YR 250 250
7h 71 &= 210-06 |160,0009 x 1= 160 160
W) 3} 210-06 |90,0009 x 1= 90 90
4) ZFAFAH] 71| 210-06 |70,0009 x 19 = 70 70
5) 7+214) 310-01 |3,0009 x67%= 200 200
PERSEES 50,000 325,260 375,260
o] FAFD B Z7}ALS- S 50,000 175,500 225,500
1. dojm FAFS-S 3,350 2,350 5,700
P PO 3,350 2,350 5,700
1) $ogx 210-01 |1,200,0009 — <7]%>400,0009= 800 400 1,200
2) An 210-04 |700,0009 — <71 %>280,000¢ = 420 280 700
3) Zuky) 210—-04 |800,000¢1 — <7]%>400,0009 = 400 400 800
4) ZFAFT (A Hh) 750 250 1,000
7h 71E 210-06 |640,0009 — <7]8>160,000¢ = 480 160 640
W} =3} 210-06 |360,0009 — <718>90,000¢ = 270 90 360
5) A3 210-15 |1,200,000§ — <7]%>400,0009= 800 400 1,200
6) & 2] 3 230-02 |300,0009 — <718>120,0009 = 180 120 300
2. €lojml wA}O A H 46,650 173,150 219,800
7 B 31,200 122,100 153,300
D153 110-03 |15,000,0009 — <71%>7,500,000 9= 7,500 7,500 15,000
2) 2+ 110-03 |103,500,0009 — <7]%>82,800,000¢ = 20,700 82,800 103,500
3) AL =} 110-03 6,000,0009) — <714>4,800,000¢] = 1,200 4,800 6,000
4) 43R 110-03 9,000,0009 — <714>7,200,000¢ = 1,800 7,200 9,000
U, Felolal g 110-03 124,000,0009 — <7]8>19,200,0009 = 4,800 19,200 24,000
o A2 210-15 |600,0009 — <71 8>300,0009 = 300 300 600
2} 2% 7| 210-15 |3,300,0009 — <7]%>1,650,0009 = 1,650 1,650 3,300




SERtw S (2] = 9

o REIRE 55 RESE e e L O I
A A

vk gy 2,600 8,600 11,200

1) AlqFA k=] ) 210-15 2,600,000 — <7]14>1,300,000 = 1,300 1,300 2,600

2) Aleker g %] 2H] 210-15 2,600,0009 — <7]14>1,300,000¢ = 1,300 1,300 2,600

vl FASANA 210—15 2,800,000 — <7]14>2,000,000 = 800 2,000 2,800

Ab B A 320-05 |11,900,0009 — <71%>9,400,0009 = 2,500 9,400 11,900

of, Al F-Ea 2,800 9,900 12,700

1) ZHAF 320-05 [6,525,0009 — <7]17%>5,085,0009 = 1,440 5,085 6,525

2) A7}1 3 320—05 [4,438,0009 — <71%4>3,458,0009 = 980 3,458 4,438

3) =97 gRY 320-05 [292,000¢ — <7]17%>227,0009 = 65 227 292

4) A A 5.3 320—05 |1,445,0009 — <7]14>1,130,0008= 315 1,130 1,445

A S nSUAst 142,349 112,988 255,337

S A SEAsA Y 20,849 42,988 63,837

1. A aSAARLS 20,849 42,988 63,837

7 . FYuSEAg 3 20,849 20,849

1) 2= x5 210—07 [350,0009 x 1t x153]= 5,250 5,250

2) 9 EE 210-15 21,0009 X5% x153]= 1,599 1,599

3) YE= 210-15 |13,0009x700% = 9,100 9,100

4) A1) 310-01 |7,0009 %7007 = 4,900 4,900

S A SA| B AMNA 121,500 0 121,500

1. A SA| A HE 121,500 0 121,500

7F. F-QbE A S Tl A 121,500 121,500

1) A A 420-02 [117,390,000¢ X 3.501%= 4,110 4,110

2) Al’dn] 420—03 [11,180,0009 x10.54 = 117,390 117,390

EHgFA 4 20,000 15,535 35,535

gl i g T 20,000 14,640 34,640

1. 985X 4d 20,000 2,000 22,000

7} A s o oS4 20,000 20,000

1) Ftx 620—03 |20,000,0009= 20,000 20,000

SN GA = 5,900 4,337 10,237

S EA =X 6,400 0 6,400

1. PSS IHER] A 6,400 0 6,400

7F SRR & 9] 3] - 6,400 6,400

% - AE-SHBEA - SAABAE - AR EA 9




713y AgE e Rt S Y (2] = 9
2 o) 1=
gopzg 22| B3| 2% RESHE Sy Ao 24 AR | @)
1) wEHAEY 5,800 5,800
7h) StwAEF 5,800 5,800
(1) 2%53%tw (61) 620—03 |5,800,0009= 5,800 5,800
2) StuEHRdaLYy 600 600
7h SundES 600 600
1) =5sw(2mw) 620—03 [600,0009= 600 600
s ZF o] Y 2500 4,337 3,837
1. S ZEFtdutx g 2500 2,193 1,693
7}, st E ol 4= A500 993 493
1) £98=% 210-01 268,000 — <7]1%4>300,0009= A32 300 268
2) 941w 210-01 |09 — <71%>168,0009 = A168 168
3) AT (L A300 300
7 71 & 210-06 |09 — <71%>200,0009= A 200 200
) =3 210-06 |09 — <714>100,0009 = A100 100
A EE 2] 9 3,324 169,041 172,365
TS GEFA A 3,324 169,041 172,365
1. 8l Wee) ZZ2AE LY 3,324 169,041 172,365
7F. Q1] 2,800 109,133 111,933
1) AEATRAL 2,100 82,911 85,011
7H WA F 7} 110-02 |350,0009 X34 x 23] = 2,100 2,100
2) A3 & A} 700 26,222 26,922
7H WA E 7} 110-02 350,000 X194 x 23] = 700 700
v AR 288 11,198 11,486
1) I 320-04 |5,037,000¢1 — <71%>4,911,0009 = 126 4,911 5,037
2) AR 320-04 [3,426,0009 — <7]1%>3,340,0009 = 86 3,340 3,426
3) oAV 9ok 3 320-04 225,0009 — <7174>219,000¢= 6 219 225
4) 1817 320-04 |1,679,0009 — <714>1,637,0008 = 42 1,637 1,679
5) AR B3 320-04 1,119,0009 — <71%>1,091,0009 = 28 1,091 1,119
(5 R = AR 236 8,610 8,846
1) AEAFA} 320-04 6,723,0009 — <71%>6,546,0009 = 177 6,546 6,723
2) A3 EA A} 320-04 |2,123,0009 - <71%4>2,064,0009 = 59 2,064 2,123
ASEX R Y AT7,030 3,356,380 3,349,350




7198 AE A=Y SA
AR I Rt R s e B (9] - H
o 1=]
gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
FAA Y A107,030 2,928,480 2,821,450
Eidia=a b PR A107,030 2,928,480 2,821,450
1. o]E2Eg ZA £99,251 2,698,708 2,599,457
7} 6249 620-03 |72,319,0009 — <71 4>102,923,0009 = A30,604 102,923 72,319
W 25380 620-03 |986,886,0009 — <71%>1,030,971,000¢= A 44,085 1,030,971 986,886
v} 28w A15,051 251,344 236,293
D 29 620-03 |116,137,0009 — <718>121,175,000¢1= A5,038 121,175 116,137
2) A 620-10 |120,156,0009 — <71 %>130,169,000¢= A10,013 130,169 120,156
7} 158ty 9,511 1,313,470 1,303,959
D 29 620-03 |547,826,0009 — <71 %>559,550,0009 = A11,724 559,550 547,826
2) A} 620-10 |756,133,0009 — <71%>753,920,0009= 2,213 753,920 756,133
2. A AEAER Y AT,779 229,772 221,993
7t 2L (F71%) 620-03 [10,399,0009 — <7]1%>12,195,0009 = A1,796 12,195 10,399
U 2580 (67]%) 620-03 |70,652,0009 — <71 8>72,837,0004 = A2,185 72,837 70,652
v} 23w A3,181 61,954 58,773
D Y E7)%) 620-03 |8,680,000¢ — <7]%>10,118,000¢= A1,438 10,118 8,680
2) B8 (Fxok) 620-03 |10,384,0009 — <7]%4>10,834,0009 = A450 10,834 10,384
3) A (F71%) 620-10 [4,522,0009 — <7]17%>4,810,0009 = A288 4,810 4,522
4) AFY (Fisok) 620-10 |35,187,0009 — <71%>36,192,0009= A1,005 36,192 35,187
a}, _]"_7_—0—@'-}_17_ AB17 82,786 82,169
) B (§7]%) 620-03 |424,0009 — <7]8>458,0009 = A 34 458 424
2) =9 (‘ﬂlno 620-03 |45,416,0009 — <7]%>46,389,0009 = A973 46,389 45416
3) AF (F-iok 620-10 |36,329,0009 — <71%>35,939,0009 = 390 35,939 36,329
FolEstuu S AN 100,000 100,000 200,000
ENSES S S 2 | 100,000 100,000 200,000
eSS 100,000 100,000 200,000
7}, Bl U HET Y 100,000 100,000 200,000
1) vleusagdeal= 10,000 40,800 50,800
1) LdgE 210-01 |6,900,0009 — <7]%8>3,000,000¢ = 3,900 3,000 6,900
) ZAF2=Tk (el np) 3,250 3,250
(1) 7|2 210-06 | 100,00091 x 54 x 43| = 2,000 2,000
(2) 23} 210-06 |50,0009 X 5% x 54| 7k= 1,250 1,250
P - folREFERE - AKRAAY - FolESRLFA AN — Fol R KA A




7|8 AEZ5 UG A
713 AR et A4 9% (2]« 79
gopzg 22| B3| 2% Aol %A% e N 2452 | AAdna | 2
o A A= 210-07 3,600,000 — <7]18>1,800,0008 = 1,800 1,800 3,600
2 An] 310-01 |2,450,0009 — <7]1%>1,400,0009= 1,050 1,400 2,450
2) YA AFA A 27,000 8,550 35,550
7H L9 e= 210-01 |16,700,0009 — <71%>2,000,000¢4 = 14,700 2,000 16,700
) 28] 210—04 |3,850,000¢ — <7]1%4>1,750,000¢= 2,100 1,750 3,850
) Ak (AR 4,200 4,200
(1) 71 210-06 100,000 x 7% x 23] = 1,400 1,400
(2) =7} 210-06 |50,0009 x 77 x 8| 7k= 2,800 2,800
b el e 210-07 |7,800,0009 — <7]14>1,800,000¢8 = 6,000 1,800 7,800
3) sk Eoly] L9 58,000 32,800 90,800
7H A=A A 210-07 |600,0009 x 1t] x 123]= 7,200 7,200
) 2o98x 210-12 |38,000,0009 — <71%>7,000,000¢4 = 31,000 7,000 38,000
oh) 2n] 310-01 |12,600,0009 — <71%>2,800,0009 = 9,800 2,800 12,600
2}) ZFAbrEE (AR 310-01 |33,000,0009 — <714>23,000,0009= 10,000 23,000 33,000
4) vFEEEAH 5,000 10,400 15,400
b $a98x 210-01 6,800,000 — <7]14>1,800,000¢ = 5,000 1,800 6,800
BA/FA/ASES 45,522 56,259 101,781
F2 77 45,522 31,993 77,515
TR L] 24,335 29,359 53,694
1. S FA 2 9x}22 4 A Y] 24,335 29,359 53,694
7. S 2o n) 620—03 |30,694,0009 — <71%8>29,359,000¢ = 1,335 29,359 30,694
|5 M= P S el 23,000 23,000
1) &2383= 430—01 [23,000,000¢ x 1tlj= 23,000 23,000
St FAgAMA 21,187 0 21,187
1. St FA 7| LA g2 21,187 0 21,187
7b = w7 A 18,187 18,187
1) 25sw4u) 620-03 [18,187,0009= 18,187 18,187
v A2 o E A R - 3,000 3,000
1) 3tz 620-03 |3,000,00091= 3,000 3,000
st A F X A A52,918 13,741,468 13,688,550
st 2-gu| XY A34,878 6,664,919 6,630,041
gmA SRR P ] A34,878 6,664,919 6,630,041




7188 A& 22 A
713y AgE e Rt S Y (el - dd
74 o) 1=
woipy B3| T3 | 0T Aol %A% e N 357 | AR | @
1. 772891 293,903 6,568,564 6,474,661
7} x4 620-02 |904,934,0009 — <714>939,259,000¢ = A34,325 939,259 904,934
U 258k 620—02 |4,151,601,00091 — <7]%>4,200,986,000¢) = ~49,385 4,200,986 4,151,601
o} st 620-02 |1,418,126,0009 — <71%>1,428,319,00091= A10,193 1,428,319 1,418,126
2. 8w 7| e} 8] %)Y 59,025 96,355 155,380
7}, el E 9] 19,025 64,010 83,035
1) £¥% 620-04 |19,025,0009= 19,025 19,025
L kAR A Y 40,000 32,345 72,345
1) Fetesx 620-04 | 40,000,0009 = 40,000 40,000
AFeFA] A A Y A18,040 7,076,549 7,058,509
<FH A AT 218,040 1,153,336 1,135,296
TG AN AT 18,040 1,153,336 1,135,296
7). 8k w 7] E 9o n) 620—09 |1,135,296,000¢ — <714>1,153,336,000¢ = 218,040 1,153,336 1,135,296
st WS ANAAIE 2,251,394 4,713,914 6,965,308
St W URIA| A 170,908 220,422 391,330
st A AFSNE 170,908 220,422 391,330
1. 3 AFFENS 170,908 0 170,908
7L EREHuASEE 170,908 170,908
1) AAm 420-02 |157,352,0009 X 5.956%= 9,372 9,372
2) AlAH] 420-03 |157,352,0009 x 1 5= 157,352 157,352
3) 7t 42004 |157,352,0009 X 1.861%= 2,929 2,929
4) Al H-d) 420-05 |157,352,0009 X0.797 %= 1,255 1,255
DA NAAA 2,080,486 4,493,492 6,573,978
WAL WSS A 2,080,486 4,493,492 6,573,978
1. 3 Ag$FA 207,751 1,201,975 1,409,726
7}, wper 84,083 134,280 218,363
1) A]AdH] 83,330 134,280 217,610
7hH 9xx 420-03 |113,000,0009 — <718>134,280,0009 = ~21,280 134,280 113,000
W) AxXx 420-03 [16,490,0009 x5 = 82,450 82,450
) E¥AFATL 420-03 [11,080,0009 x 24 = 22,160 22,160
2) Al E 8] 420—05 |104,610,000¢ x0.719%= 753 753
B 67,500 96,390 163,890
B - foll2EERS - Fua gAML - BEBAMAANL - AL a AN




EEFIuSA A (2]« 79
o) 1=

oA RERE Bz R A% AR | g

1) Al4dn] 67,500 96,390 163,890

7h) WEx 420-03 |3,750,000¢ x 641 = 22,500 22,500

W) A= 420-03 3,750,000 x 1224 = 45,000 45,000

o =% 29,280 179,850 209,130

1) Al4dn] 29,280 179,850 209,130

7h) AdE (9]H) 420-03 |480,0009 x 6141 = 29,280 29,280

g wAHdHeA 26,888 193,133 220,021

1) AAn] 420-02 |43,572,0009 x5.11%= 2,227 2,227

2) A1Adn] 23,881 181,550 205,431

ORI ES 420-03 |161,859,0009 — <714>181,550,0009= ~19,691 181,550 161,859

W) Xz 420-03 [72,620,000¢ x0.64= 43,572 43,572

3) Al F-of 8] 420-05 |43,572,0009 X 1.79%= 780 780

2.9 - BEAAANA 504,430 825,538 1,329,968

7Fo - A 504,430 825,538 1,329,968

1) A1AH] 504,430 787,320 1,291,750

7h Az 420-03 16,910,0009 x 84 = 55,280 55,280

) $9x 420-03 |6,910,0009 x 124 = 82,920 82,920

b WaEx 420-03 |6,910,0009 x 142 = 96,740 96,740

2}) o= 420-03 16,910,000 X102 = 69,100 69,100

wl) WE 420-03 [6,910,0009 x 142 = 96,740 96,740

uh) A stE 420-03 |6,910,0009 x 152 = 103,650 103,650

3. Al ANA 755,319 1,412,733 2,168,052

7F B2} 26,000 206,394 232,394

D Uz 7HL AT 890 26,000 26,000

7h F-_FAY 3 420-02 126,000,0009 x 14] = 26,000 26,000

v A8 (A ) oA 729,319 1,021,540 1,750,859

1) AAn] 420-02 |703,840,0009 X 2.99%= 21,045 21,045

2) A1Adn] 703,840 976,680 1,680,520

7hH A (H4E) 420—03 [11,080,0009 x84 = 88,640 88,640

) $9x(HA=) 420-03 |11,080,0009 x 741 = 77,560 77,560

) ¢4 =% 420-03 19,120,000 x 52 = 45,600 45,600

2h) ME = (HAS) 420-03 |11,080,0009 X741 = 77,560 77,560

W = St FAANAAE - WS BANIAE - AL SN 8




SERtw S (2] = 9
o) 1=

FP N I A1} 54 AESE 2457 | ARdae | 2

up) W x 420-03 |9,120,0009 x 72 = 63,840 63,840

nh) sekx (HAS) 420-03 [11,080,000¢ x 82 = 88,640 88,640

A etz 420-03 19,120,0009 x 24 = 18,240 18,240

op) MBFZ (HA=F) 420-03 |11,080,0009 x 104 = 110,800 110,800

ZH AldE (HAAS) 420-03 [11,080,0009 x 124 = 132,960 132,960

3) Al F-ofv] 420-05 |703,840,0009 X 0.6299%= 4,434 4,434

4, A7\AANA 159,636 281,371 441,007

7} 2 A4 (LED) 159,636 231,011 390,647

1) Al4dn] 158,600 229,360 387,960

7hH AAl = 420-03 2,440,000 x 84 = 19,520 19,520

L) WEx 420-03 12,440,0009 x 74 = 17,080 17,080

t}) Yotz 420-03 [2,440,0009 X104 = 24,400 24,400

gh) Mz 2 420-03 12,440,000 x 104 = 24,400 24,400

) 49 x 420-03 |2,440,0009 X 62 = 14,640 14,640

wh) A3 420-03 |2,440,0009 x 244 = 58,560 58,560

2) At 420-05 |158,600,000€ X 0.653%= 1,036 1,036

5. AAALUA BT =52 156,000 0 156,000

7}, A A 156,000 156,000

1) Xz 620—04 |1,500,000¢ x84 = 12,000 12,000

2) FE=x 620-04 1,500,0009 x 24 = 3,000 3,000

3) W#E % 620—04 |1,500,000¢ x 22 = 3,000 3,000

4) WAkx 620-04 1,500,0009 x 94 = 13,500 13,500

5) Fektgdx 620-04 |1,500,0009 x 1= 1,500 1,500

6) F-kx 620-04 |1,500,0009 x 124 = 18,000 18,000

7 =z 620—04 |1,500,0009 x14= 1,500 1,500

8) FA= 620—-04 |1,500,0009 X 64 = 9,000 9,000

9) =X % 620—04 |1,500,000¢ x 34 = 4,500 4,500

10) 3% 620—04 |1,500,0009 x 14 = 1,500 1,500

11) WA 620—04 |1,500,000¢ x84 = 12,000 12,000

12) §-<k% 620-04 |1,500,000¢] x 154 = 22,500 22,500

13) 24A= 620-04 |1,500,0009 x 44 = 6,000 6,000

14) FAk= 620—04 |1,500,0009 x 74 = 10,500 10,500

B - FuuFolANAAE - WEBANAAAE - FuAE nEIA A 9




AepE et n S d% (2] = 9
o) 1=
FP N I AR %% ENE 430 e | g
15) 3L = 620—04 |1,500,0009 x 94 = 13,500 13,500
16) Foka 620—04 |1,500,0009 x164]= 24,000 24,000
6. nAFA (AHE) 239,350 0 239,350
7 . &S 198,500 198,500
1) Al4dn] 198,500 198,500
7} H-olo]= 620-11 |19,850,00094 x 102 = 198,500 198,500
L =3 40,850 40,850
1) A1AH] 40,850 40,850
b wakE 620—11 |2,150,000¢ x 1941 = 40,850 40,850
7. F-&AMNA XR) 55,000 11,360 66,360
7b A ENA 55,000 55,000
1) A1AH] 55,000 55,000
7F) H-elol= 620—11 |55,000,0009 X 14 = 55,000 55,000
8. AANUANETTEZT (XHH) 3,000 0 3,000
7} H A 3,000 3,000
1) WA = 620—11 |1,500,000¢ x 241 = 3,000 3,000
antk 93,553 2,764,392 2,857,945
A= eI ] 276,407 1,140,956 1,134,549
71397}t 1,380 0 1,380
71 % 7} 1,380 0 1,380
1. 8P 7SAF 71D ALE 1,380 0 1,380
7}, n SR A7t 1,380 1,380
1) ZAHA B 7HA G- A5 3T 500 500
7H A& A =+ 210-01 |5,0008 x50% x 28] = 500 500
2) A 7] e 3] 880 880
7H +94= 210—01 |20,0009 X5% x23]= 200 200
) #ZAA 5k 210-06 |80,0009 x 2% x 23] = 320 320
o )3 230-02 |15,0009 x 12 x 28] = 360 360
A4t E 20,000 45,754 65,754
A 20,000 45,754 65,754
1. 23R NAA Y 20,000 44,464 64,464
7F HMAFA A Y 20,000 44,464 64,464
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719 A& e A
AR s B Rt ety S) ks S R (k9] - d4d
gopzg 22| B3| 2% Agvle %5 ek N E C R R
1) F-olo] 620—11 |20,000,0009= 20,000 20,000
A H)) X A 3 728,287 874,342 846,055
A Hf| X Al 3 2] £A28,287 874,342 846,055
1. 28 AX 4 A28,287 813,530 785,243
7F AAW A AE (5H) 210—-07 |210,587,0009 — <71%>248,474,000¢= 37,887 248,474 210,587
U QEA A AR 7 H] 620-01 269,952,000€ — <71%4>260,352,000¢4= 9,600 260,352 269,952
rRnu a5 8-3o] g 500 5,834 6,334
SHE-E YT 5 K- g 500 5,834 6,334
1.8 astp gy 3= d 500 3,000 3,500
7h =m0l m Y 3¢ 500 500
1) S98=% 210-01 10,0009 x 13%= 130 130
2) 7214 310—-01 |3,000€ x 309 = 90 90
3) WEH 310-01 |140,0009 % 2= 280 280
7| B #a 90,267 1,623,436 1,713,703
nSPA 7| AR 90,267 1,269,606 1,359,873
SR LA A #E 90,267 1,269,606 1,359,873
1. A LA 90,267 1,269,606 1,359,873
7}, A Eokd As A A 90,267 147,570 237,837
1) S98=% 210-15 |70,0009 X 8% x 48] = 2,240 2,240
2) HE4 18,464 18,464
7H AE7) 430-01 2,500,000 x 2t} = 5,000 5,000
) A 430-01 1,350,0009 x 87} = 10,800 10,800
b == 430—-01 |111,0009 x247)= 2,664 2,664
3) S ute A A A 10,681 10,681
7 vled AL 420-03 |51,1509 X 140m'= 7,161 7,161
W) wpdhobz A o A 420-03 20,0009 X 176m'= 3,520 3,520
4) AL-AAANA 58,882 58,882
7h BT (E A L) A X ZA} 420-03 |53,132,0009 x 14 = 53,132 53,132
W) wlto 430—-01 |550,0009 X 1 %= 550 550
o &k 430-01 |500,000¢ % 674 = 3,000 3,000
2} EAZ) 430-01 |2,200,0009 x1%= 2,200 2,200
o v H) 2 7 e} 9,693 0 9,693
T — WSYRE — o un| L] E
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&4 A5 Apel ) ol B NN = =) 717 of] Ao 31
/\]—Cﬂ A]—Cﬂ = = = = = T 66 = fe] = =] ﬁ]
o v )L 7 e} 9,693 0 9,693
AAETS 9,693 0 9,693
1. AR EFF 9,693 0 9,693
7 A ARA B2 w5 5] g ko gk gk 9,693 9,693
1) gojulgo]n ZwALX Y 710-02 |9,693,0009= 9,693 9,693
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